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General Instructions:

1. The question paper consists of 18 questions divided into 3 sections A, B and C.

2. Section A has total 3 questions having a multiple-choice question and 2 case study-based questions.

3. Section B has 6 objective-type questions.

4.Section C has total 9 questions having five questions of 2 marks each and two-two questions of 3 and 4
marks each.

5. There is no overall choice. However internal choices are provided in each section. You have to attempt only
one of the alternatives in all such questions.

6. There is no negative marking.
7. Use of calculators is not permitted.

@s - 37 (Section A)

9. 9. 3%
Q.No. Marks
L. 97#8WW#/WW7WW#/ 8§x1

0 1 has 8 multiple-choice sub-parts. Each sup-part is of 1 mark.
() | Pefaf@a & ¥ 59 gAfAT cgaear &1 39T v g J&ar A FEhg

FT & T 8T ThaT ST TohaT &2

Which of the following symmetric arrangement cannot be used to represent a squared
number?
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(i)

T & fe@s a8 et W@ v g@R @ g P gidese i gl
Three lines shown in the figure intersect each other at Point P.
!
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@M |, 3W@T nah o9dd g1 26 T AT 65°F1 23 3T 24F AT &1 AT &

Line I is perpendicular to line n. The measure of 26 is 65°. The sum of the measure of
23 and 24 is:

(A) 95° (B) 115°
(C) 120° (D) 155°
(i) | (30 x 70) + 69T AT &:
The value of (3° x 7% + 6° is:
(A) O B) 1
©) 2 (D) 27
(iv) | g HACTASTE T ABCH, ACHY S = 10cm 3R 3918 AD=6cm gl P, AB
W T foig B

In an isosceles triangle ABC, the length of AC = 10 cm and altitude AD =6 cm. Pis a
point on AB.
A

B D C

BP 3R PASE TETS AL (4x- 1) 3R (3x+4) &1 BP &I J€TS §:

The length of BP and PA is (4x — 1) and (3x+ 4) respectively. The length of BP is:
(A) 1 cm (B) 3cm
(C)5cm (D) 10 cm

v)

TS & T &7 aAART Y Ts T aoiAT 31 1 el I g1 4dY TG, Seleh

3 T AT 64 Y BAN| o] T TAAA I &

The present age of Raju’s father is three times the present age of Raju. After 4 years, the
sum of their ages will 64 years. The present age of Raju is:

(A) 15 years G (B) 16 years ay
(C) 14 years ay (D) 20 years ay




31yar / OR
al qouT EEATIHT 1 X 35| Al HEATI HT AT 2:7 8| al HEIIHT
I[OTeThel &
The difference between two whole numbers is 35. The ratio of the two numbers is 2:7.
The product of two numbers is:
(A)14 (B) 49
(C) 686 (D) 868

(vi)

Teh Wbl Y d§ Gl & Sl Yehlel Ush qedl a¥ & ITr kgl Harel &
€G3 & foIw, g ar el st & o & gl &1 aoied e & T geprer
aY T 3UANT A § | Teh FehlM aY o787 9,500,000,000,000 e B
aTATdE Teh dR T 3Hdeilehel X G & oIl G2 § 5 9hrer a¥ gf W &1 gear
8 anT fehctel forellefie & g2

A light-year is the distance light travels in one Earth year. For objects in space, we use
light- years to describe the distance between two heavenly bodies. One light-year is
approximately 9,500,000,000,000 km.

Astronomers are observing a star that is 5 light-years away from the Earth. How far is the
star from the Earth in kilometres?

(A) 4.75 x10" (B) 4.75 x10"
(C)47.5 x10" (D) 4.75 x10"
(Vi) | 1 g% gIet arell fawer FEamsit & geE &I e W wfaf@d # @ #ia
o HE&hT qut g9 §?
By repeating subtraction of odd numbers starting from 1, which of the following numbers
is a perfect square?
(A)55 (B) 231
(C)324 (D) 351
3gar / OR
V1369 =?
(A)27 (B) 33
(C)37 (D) 43
(vill) | fyrrfof@d # & i @ 3l aqur " oAt FT Fad TF oA FA g

I TS AT &2
Which one of the following figures satisfy the property: “only one pair of sides are
parallel”?
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3Yg4ar / OR

A B
D c

I fear = ™/ v JATER ugaid ABCD fe@rar & TS ger &1 D = 60° 1

Arfafaa # @ s A Tad 3R &2
The diagram above shows a parallelogram ABCD with angle D = 60°. Which of the
following has the greatest value?

(A) 22 A-24/B B) £A+4«B

(C)2A+4D (D) 32C-24D

W 2 U9 3 & ¥ ATERT 597 &/ Gcdeh S sl JTENRT F97 H 5 3977
& G775 & 39! Fis 4 IGHTT §oT Xt & | TP IGHT 2 HF FT &1
Q2 and 3 are case study based questions and each case study based question

has 5 sub-parts. You have to attempt only 4 sub-parts. Each sub-part is of 2
marks.

HIF Hel T IeAer $a¢ & foras arasdhi o q@-fTaRa gff I 7| 38+ faffiest
IR A § S8 aras R_AffeT ardraon & &at &g &1 11
FT I Fel 9T 5d¢ 39 TR &

afafafer o (el &)

arehl T3 WX GIgall 3
Hedl Hgh T Glga 2
TgTST X TGeTT 2
EACERCIES 1
ST | glger 2
]

Sl [l & IR T

Cross country is a running event in which runners completed a pre-decided distance. It
includes different activities in which runners cover different environments. A cross
country running event of 11 km is as follows:
Activity Distance (in km)
Running on paved road 3
Running on unpaved road
Hill climbing
Mud run
Running in woods
Crossing water bodies

— (N (DD

4x2




(@)

el &l & fohdelr T SIS gls g7

What fraction of the total distance is the mud run?
11 1
A T B) 3
1 10
€ = D)

(ii)

Sl gl ol fohcTall 17eT STor foeprail T &7
What fraction of the total distance is the Crossing water bodies?
11

A = (B)
© (D) 5

(iii)

gl 3R eell Hsohl TR T AT 315 gl el gl T feohealr HaT 82

What fraction of the total distance is the distance covered on paved and unpaved roads?
3 5
(VI B)3

2
(© (D) =

(iv)

11
5
TETS! W UGl IR STl H o & 1S gl Tl gl T fehcler 17er 872

What fraction of the total distance is the distance covered on Hill climbing and Woods?

4 2
@ = B)Z

11 't
Q) D)+

V)

E
2

TGS e &, SITell § Alsh AR TSI R Fgehs, 1A el H Fel gl F

e fohaT ST Fehell B1'

(A) 3TeT (B) 3 ¥ 38+

(C) IS HA (D) TS TAUAS

Rahul says, ‘By running through woods and climbing hills, of the total distance

in cross country can be covered.’

(A) Half (B) More than half

© Less than half (D) One fourth

el & Tedd & v, ydes dfed 3R Slad &7 FAE a1 # oEl it cgaedr | 4 X 2
T ST ¥ TaEdT 1H T AR 9 faeanfdat &1 egaffya fhar S g

g:

For a school performance, an equal number of students are to be arranged in each row
and column. 9 students can be arranged as shown in Arrangement 1:

Arrangement 1

(@)

gqEdT 1H 100 it & fou v dfda/eas & fras fagafdat & Sier

ST |l 87

How many students can be added in a row/column in Arrangement 1 for 100 students?
A 5 (B)7

©) 10 (D) 12




(i)

Yol ATSId el alel T8R! &l oercl & fob Teh Heg #H 100 BHET &I
SHATEA AT HIbol BIoN| T FHE Y &l g9 Faeui3h & fqanfad aa &
IR # Aad g1 Ide caaedr # fhaer et & awhd &7

The teachers organising the performance think that it will be difficult to arrange 100
students in one group. They think of dividing the group into two square arrangements.
How many students can be there in each arrangement?

(A) 36, 64 (B) 81, 16

© 50, 50 (D) 49,49

(iii)

al o FHA & o yede § quieyd ¥, Refd adAET ot ey e
IEAT # IS el & aR H @A g1 Tcdeh gaedr H fohdel facanedf
g T &7

Two students were absent from the performance on the event day, teachers think of

dividing the present students into two square arrangements. How many students can be
there in each arrangement?

(A) 34, 64 (B) 82,16
© 25, 64 (D) 49, 49

(V) | gl & HARETT Gt & goif & &I H 3] S{e & &
(A) 3oIh IR & (B) 3Th UTThel &
(C) 3eTch ANT & (D) Tsh
The difference between squares of any two consecutive numbers is equal to:
(A)  their difference (B) their product
(C)  their sum (D) One

V) | frfaf@a & & Fia @ v &2
Which of the following is the odd one?
(A) 100+10+10+5 (B) 400+20+20+5
() 900+30+30+5 (D) 1400 +40+40+5

s - T (Section B)

far 7 @ 315 IR Red Tu= aRkv:
Fill only 4 blanks out of the following:

4 x1

() | emaR e FEa3tt F AT 54| TE DIE TEAT gl

Sum of three consecutive numbers is 54. The smallest number is

() | woh aegeeT, oTHh Ycdsh STEd HOT H AT 450, H A A odEdr

gl

The number of sides of a regular polygon whose each exterior angle has a measure of
45% is

(i) | 1225 T FIHSA gl
Square root of 12.25 is

(V) | I 3 (x+4)=2x + 17§, ar x T AT gl
If 3 (x +4) =2x + 17, then the value of x is

V) | (33 -(32y°=___




Aerer T
Match the following:
geeT I AT ofist i wear

Name of Polygon Number of vertices

(1) ﬁﬁi\_ﬂ Triangle (A)8
(i1) ¥cdol Hexagon (B)7

(ii1) q%ragsr Pentagon ©)6

(iv) EIT:)[S:‘]_)T:-[ Quadrilateral (D)5
(E)4

(F) 3

1 x4

g 6-9 3d g -3HT g7 &1 GdF o 1 3 &/

O 6—9 arevery short answer type questions. Each question is of 1 mark.

_739T‘Tcr T o fow AT Fear _?7% Il H FIT ST ST fge?
What should be added to twice the rational number _?7 to get _73 ?
AYar /OR
AN T GEAT (y) B G, T 3EA 7518 AT s g @ et faf@T]

I think a number (y) then added 7 to it. Write the expression for double of it.

30 FACR gt 1 1H AT TSaer gedsh Sior 90°¢ |

Write the name of the parallelogram having each of its angle 90°.

g HIfAT ; 2x-7=x+2

Solve : 2x -7=x+2

Teh FAYCHST & Tashull T d&ar A Hfv|
Find the number of diagonals of a regular Hexagon.

@s ¥ (Section C)

g 10 - 14 3% g97 2 37 FT &/
QO 10 - 14 is of 2 marks each

10.

Tsh AR ugaid a}?a’rmﬁrwwa@mﬁm%lmmm@ﬁm

Two adjacent angles of a parallelogram are in the ratio 4:5. Find their measures.

11.

x 3x 5x
AT =-=+—==
gol j 254 p 21
Solve:i——x+—x=2l
2 4 6

12.

YRR @ (6, x, 10) H 'x' &l HIT ATd hITAT|
Find the value of ‘x’ in Pythagorean triplet (6, x, 10).

3Yg4ar / OR

V1.21 X /0.09 T AT AT hITAT|
Find the value of v1.21 X v0.09




13.

RENT U 34 gl 38% A&t O WX fAed g1 I OR = 2x + 4 3R

OT = 3x + 1 &, a@ x & AT A1d hifaw|

RENT is a rectangle. Its diagonals meet at O. If OR =2x + 4 and OT = 3x + 1, Find the
value of x.

T N

RE “E
37941 / OR
& 1S T 7 xF AT AT S

In the given figure, find the value of x.

14 | 9g o1& @ o1& wear Ad AT /@ 300 1 0T F W ag T gt a9
doT ST
Find the least number by which 300 must be multiplied to make it perfect square.
g 15-16 939%F 597 3 3 @7 & |
O 15 - 16 is of 3 marks each.
15.

i @l &Y 1T & 37 YR AT fham Siram 8 o ggel #e7 & 7 907 ot
GEY 9T & 5T A Sligel TR 142 81 ST &1 Tcdeh #1eT AT MfSv|

Twenty four is divided into two parts such that 7 times the first part added to 5 times the
second part makes 142. Find each part.

314t / OR
fArfaf@d feor @ g Ao 3R gRumAT f S Hifaw

Solve the following equation and check the results:
Sx-2(2x-7)=2(x-1)+2




16.

E 12 e
¥
3c
6
120°
X
S 1 A

3R QU 71T FATCR TSt SAFE H, HI0T $ =120°, A& &I AT AT HITAT:
In the parallelogram SAFE given above, angle S =120°, find the value of :

2n-

()  2n+3c 172

(ii) X—Yy 1%
g 17-18 9% Jo7 4 3H F1 & /
QO 17 - 18 is of 4 marks each.

I7. |95 oy ¥ ol g&ar A Hifow G 543291 F st W a8 qof @ a1 | 4
SITT| quf a7 T Fefeer 8+ It
Find the smallest number which must be added in 543291 to make it a perfect square.
Also find the square root of the perfect square.
3ygar / OR
8,93 109+ & AT gl arell & BT I & AT HfSv|
Find the smallest square number divisible by each one of the numbers 8, 9 and 10.
18. | gater v @ A0 & g Xdl &1 3T gl A @ I ¢
Rajesh solves a Linear Equation. His solution is shown below:
2m-3=5m-2
TOT 1: Step 1: =502m-3)=5m-8
TOT 2: Step 2: =10m - 15=5m -8
TOT 3: Step 3: =10m-5m=-8+15
TOT 4: Step 4: = Sm="7
= m =§
(i) T T F gl T &7 1
Is Rajesh’s solution correct?
(i) IfE @, ar T A fFE WoT F A Hr g 3R WOER T gl | 142

IGIEEN

If not, in which step did Rajesh make an error and write correct stepwise
solution.




